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I 7 mwn: minimal sizes of houses, (big and small) and mansions
a  Note: examples of “small houses” are wedding house for his son or widow-house for his daughter
i Teaching: that a married man should not live with his in-laws (as per ®70-12)
1 Tangent: other teachings of X71'v-13, including an application of v. 1
b  Measures:
i Small houses:
1 y™-4x6; YRynw '1: that is a barn
2 ™:6x8
ii ~ Big house: 8x10
iii  PYpro: (defined as a rose-adorned hut) 10x10
1 Added: "mp (yard of a palace) — 12x12
iv  Height: ¥ length + %2 width — as demonstrated by size of wTpn (v. 3 — 20+20 = 40/2 =20 height)

1  Note: this proof may have been brought by p”"n and 32w countered it, or he may have provided it

2 np73x oInR —height is as per the walls
(a) Question: why not phrase it “as per the width”?

(b) Answer: either because the walls taper on top or because the windows depreciate the measure of the walls
¢ Tangent: about size of 17227 (p"nTp) — contradiction between v. 2/3
i Resolution: v. 2 is counting from top of wings of n»1173
1 Teaching: that just as there was nothing above them, there was nothing below them (stood miraculously)
2 Added: the IR took up “no room” as per the measurements
i Sxmow: the may1d stoof miraculously — as their bodies took up no room (as per measurements in v. 4)

1 Challenges: perhaps their bodies stood out like birds; or they were not exactly facing each other or they were
situated diagonally, perhaps the walls were narrower above them, perhaps their hands were folded in, per-
haps they were interlocked (rejection of Y81nw’s argument)

iii  Question: how were the 0’2173 situated? Dispute 8”1/7am "1
1 One: they faced each other; Challenge: v. 5; Answer: that is when »"11 are disloyal to 'n
2 Other: they faced back to back; Challenge: v. 6; Answer: they face sideways as per v. 7
II  ’n mwn: rights to a cistern in front of another’s house
a  He may only come in and leave at the time that that is generally done
i And: he may not bring his animals in to give them drink; rather, he fills up the water and brings it outside
b Both: have keys to get in (both needed to open up)
i Reason: house-owner won't steal water; cistern-owner won’t be suspected of 71n» with house-owner’s wife
II v mwn: rights to a garden inside another’s
a  Hemay: goin and out at usual times, may not bring buyers in but must bring produce out to them and may not use
the easement as a short-cut to his other fields — the owner of the outer garden may plant along the path
b But: if they made a special easement for him to get in from the side, he may enter or leave when he likes and may bring
buyers in but still may not use it as a short-cut; neither of them may plant along the path
IV Related: Yrynw — if someone sells irrigation channel, he must give him 2 mmnx width and 1 nnx on each side for “banks”
a  If: he sells np (for giving drink to animals) — 1 nnk wide and %2 nnk on each side for banks
i Question: who may plant/sow along the banks?
1 Answer: ¥ quotes YRnW — field-owner may plant (but not sow — it weakens banks)
(a) Dissent: N1’ 27 quotes YRnW — field owner may (even) sow
ii  Note: if the banks cave in, the field-owner must repair them, it is his field that weakened them
1 Question: why can’t he argue that the water weakened them?
2 Modification: that was a condition of the sale
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